TIDGK BOKTOPNAN KoMOIIMeN
KnaccMiMKauuanay

Opsingaran: bonatoB Hazapoek
Kaorigaran: Kadapaxosa CeiMOar




y « Solution:

o 2
mnin L
2

» Constraints:

y,—wx,—b<¢

wy, +b-y, <¢&

Tinek BEKTOpNan MALIMHACDI,

COHAaN-ax anropuTmAal ,
X cUNaTTaiTLIH GaPNbIK HErir < :

(OYHKUMANADAbI CAKTai OTHINbIN,

perpeccua oici petinge

naiaananbInybI MyMKin. Herls grm—

BEKTOPNapAbIH Perpeccuact
[SVM) mikTey vuin SUM cuax
NDMHUMATEDAT KONAAHAADL.

.
1 2 . ” L*
7|“i +C -El (;,. +g; )
2 =

- +£
f
~-t =« Constraints:

yi—wx;,—b<&e+é

wx, +b—v, <e+&

4 %

Sgi 20




H anAbIMeH, KODbITbIHAbI
HakTbl CaH GonraHAbIKTaH,
WeKCi3 MyMRinAikTepi 6ap

axnaparTbl Gonmxay ore KMbiH

Gonapbl. Perpeccus
karAanbIHAA Pykcar wWeri
(ancunoH) TanchipMaaan

cypanarbin SUM-re

KaxbIHAAYAA ODHATLINAAb

1(6,,0,)

— Gradicnt descent

Min — 1.9%00000000000002

A 4~ | Binax GynhakTinen 6acka kynpent
ceden 6ap, COHAbIKTAH ANTOPUTM

KypAeni, COHAbIKTAH OHb] HA3ap-a any

| kepek. Aerenmen, Heriari naea opxawan

Gipaewu: <aTeHi a3aunTy, KopAabl




/ \

.\T

CbI3bIKTbIK > v=3 (a0} (x.5) +b
CBP .

CbI3bIKTblK EMEC — > | AANOHBIH HYHKUMANAPDI
AepexrTenai cbi3bixTblx Gonyre
MyMKiHAIK Gepy yvitil Kon

onwemai Genrinep kexicririne

1l |




> (@, —a) )-(@lx,). o(x)) +b

(a,. —a, ) K(x,.x)+b

4 )
CbI3bIkTbix éMmec GBP-
AiH thopMmynanapbl

J




: Ju pyter Kabdrachova 13 apta Last Checkpoint: B npownoe sockpecebe 8 18:33 (autosaved)

File Edit View Insert Cell Kernel Widgets Help Not Trusted
+ < @ B 44 ¥ MRun B C W Markdown v | e

import pandas as pd import numpy as np

(Byn xonabliH KogblHAa csv ¢hannblH OKUMbIH )

data=pd.read_csv("C:/Users/hp/Desktop/Cabak/3 kypc/2 CEMECTP/Python/heart.csv")

(Byn xonabiH KogblHAa 1-wwi 5 Xonabl anambiH XaHe KapauMbiH)

data.head()
(Byn xonga garaceTrepAaid aknapaTtrapbiH OKY anaMmbiH)
data.info()

In [5]: data.shape #byn xepde kanwa xon xaHe OaraH 6apdbiH enwemMiH GHeIKMAl anambiH

out[5]: (303, 14)

In [6]: data.describe() #fJamacemmiy opmax cmamukansik iwiHdezi 3ammapdbi kepe anamvl
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In [6]: data.describe() #Jamacemminy opmaxk cmamuxanvik iwiHdezi 3ammapdbi Kepe anamol
Out[6]: age sex cp  trestbps chol fbs restecg thalach exang  oldpeak
count 303.000000 303.000000 303.000000 303.000000 303.000000 303.000000 303.000000 303.000000 303.000000 303.000000
mean  54.366337 0.683168 0.966997 131.623762 246.264026 0.148515 0.528053 149.646865 0.326733 1.039604
std 9.082101 0.466011 1.032052 17.538143 51.830751 0.356198 0.525860 22.905161 0.469794 1.161075
min  29.000000 0.000000 0.000000 94.000000 126.000000 0.000000 0.000000  71.000000 0.000000 0.000000
25%  47.500000 0.000000 0.000000 120.000000 211.000000 0.000000 0.000000 133.500000 0.000000 0.000000
50%  55.000000 1.000000 1.000000 130.000000 240.000000 0.000000 1.000000 153.000000 0.000000 0.800000
75%  61.000000 1.000000 2.000000 140.000000 274.500000 0.000000 1.000000 166.000000 1.000000 1.600000
max  77.000000 1.000000 3.000000 200.000000 564.000000 1.000000 2.000000 202.000000 1.000000 6.200000
In [7]: y=data['target'] #bysn xonda baranda myprax mapzemmi XONFA MEHWLKMEN XambipMbi3
In [8]: x=data.drop(['target'], axis=l) #Muna xepde x —ke Jdamacemmu mexkwuxkmeiimux xaHe 'target' ewipemin
In [9]: x.shape, y.shape #paszmep x xaHe y kapaimbi3
Out[9]: ((3e3, 13), (3e3,))




: Ju pyter Kabdrachova 13 apta Last Checkpoint: B nponoe Bockpecetbe B 18:33 (autosaved)

tebooks/Kabdrachova%2013%20apta.ipynb Dxg 3=

A

Logout
File Edit View Insert Cell Kernel Widgets Help Not Trusted |Python3 O
+ X @@ B 4+ ¥ MRun H C M Markdown v | @
In [10]: from sklearn.model_selection import train_test_split #train_ test split bubnuomexkadar wakvipdem . Cebebi
In [20]: x_train, x_test, y_train, y_test = train_test_split(x, y, test_size = 0.3)
In [21]: from sklearn.svm import SVC
svm = SVC(kernel='linear"')
svm.fit(x_train, y_train)
Out[21]: SvC(C=1.0, break_ties=False, cache_size=200, class_weight=None, coef0=0.0,
decision_function_shape='ovr', degree=3, gamma='scale', kernel='linear',
max_iter=-1, probability=False, random_state=None, shrinking=True,
t0l=0.001, verbose=False)
In [22]: y_pred = svm.predict(x_test)
In [23]: from sklearn import metrics
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Out[38]: 0.7692307692307693

Gaussian Kernel

In [43]: svm2=SVC(kernel='rbf', degree=8) #laycc ¢opmynacei apkeinsi numpy-dei Kondaksin [aycc AOPOCHIH wbi2apambis
svm2.fit(x_train, y_train) #A0poza noaudi meHwikmelimis.
#An cmeneHs 8 2e meH bondol.
#X waHe Y mpeliHOep0i 3KpaHra wbl2apambi3

Out[43]: sSvC(C=1.0, break_ties=False, cache size=200, class_weight=None, coef@=0.0,
decision_function_shape='ovr', degree=8, gamma='scale', kernel='rbf',
max_iter=-1, probability=False, random_state=None, shrinking=True,
t01=0.001, verbose=False)

In [45]: y_pred2=svm2.predict(x_test)

In [47]: from sklearn import metrics
metrics.accuracy_score(y_pred2, y_test) #Jalio Gonrax xayanmel 3KkpaH2a weizapy Kepekniz.
#EH manbizdeicer accuracy 0-dew yakeH bony kepek.

Out[47]: 0.6483516483516484

Sigmoid Kernel
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#EH maHbizdbicel accuracy 0-deH ynkeH bony kepek.
Out[47]: ©.6483516483516484
Sigmoid Kernel
In [48]: svm3=SVC(kernel='sigmoid', degree=8) #[an ocoumaii CuHMOHOMEIK AGPOHbI WbIFAPAMLIS .
svm3.fit(x_train, y_train)
Out[48]: svC(C=1.0, break_ties=False, cache_size=200, class_weight=None, coef0=0.0,
decision_function_shape="ovr', degree=8, gamma='scale', kernel='sigmoid',

max_iter=-1, probability=False, random_state=None, shrinking=True,
t01=0.001, verbose=False)

In [49]: y_pred3=svm3.predict(x_test)

In [51]: from sklearn import metrics
metrics.accuracy_score(y_pred3, y_test) #ew manwizdbicoi O-dern ynken bony kepek

Out[51]: ©.5604395604395604
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